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HST3, HST3-R,
HST3 BW,

HST3-R BW M10

09.02.2018

d0 = ⌀ 10mm

90°

h1 = hnom + 5mm

DD EC-1
DD 30-W

6 bar/
90 psi

d0 = ⌀ 10mm

h1 = hnom + 10mm
90°

hnom, 2 = 68mm

hmin 
 ≥ 100mm

hmin 
 ≥ 80mm

tfix, 2

tfix, 1

12mm

12mm

hnom, 1 = 48mm

hnom, 1 = 48mm

HS-SC

17mm
Tinst = 45Nm

SIW 6AT-A22+
SI-AT-A22

17mm

HST3 HST3-R
HST3/ 
-R BW

tfix, 1 tfix, 2

M10x70 10/– ✔ ✔ – 10 –

M10x80 20/– ✔ ✔ – 20 –

M10x90 30/10 ✔ ✔ – 30 10

M10x100 40/20 ✔ ✔ ✔ 40 20

M10x110 50/30 ✔ ✔ – 50 30

M10x130 70/50 ✔ ✔ – 70 50

M10x160 100/80 ✔ ✔ – 100 80

M10x200 140/120 ✔ – – 140 120
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